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HH A

g H

bR 2,779,038 2,324,957 454,081
1,389,969
411,123
977,946
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b
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101 @124 4] 33,758 30,838 2,920
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401 AIEBIZ S CHYI

HH W

2,743,180
1,371,590
405,879
965,711

2,291,536

451,644

01 A& HI

— = IR I ALY (850ha)

— {8 LER IR I AL (150ha)

— XX EHIJI A (680ha)

— 92 M H A (100ha)

1,498,266,000&

MW

204,974,000&

HH A

875,643,000&

U R RN

113,525,000&

A

2,700,008
2,700,008
1,498,266

761,071
228,321
508,874
204,974
104,120

31,236

69,618
875,643

444,932
127,622
303,089
113,525

57,667
17,300
38,558

2,255,220

444,788
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— &> H S & (500ha) 7,600,000& 7,600

3,800
1,400
2,400

02 2teltl 30,809 25,916 4,893
O=HIEX At 30,809

— =JFRIIALY Z2l(1,000ha) 30,809,000 30,809

03 Al& 2 CHHI 12,363 10,400 1,963
O=HIEX At 12,363

— =3I A (850ha) 5,899,000 5,899

— {8 LER IR I A (150ha) 1,041,000& 1,041

— Z8 X Ab=22](780ha) 5,423,000 5,423

MW

WEU2 ASZA2XE 3,194 3,194 0

3,194

H

301 2ELE A= 3,194 3,194 0
3,194

H

= 3,194 3,194 0
At 3,194

b FOAS 242 X3 (26ha)

3,194,000 3,194
3,194

H

SO XA 97,065 155,000 A57,935
75,495
6,471
15,099

UL IY

402 RIZHXH= 0| & 97,065 155,000 57,935
75,495
6,471
15,099

HH W

02 (IR 2AILE X (01 ETHR) 97,065 165,000 A57,935
a| A 97,065

10,785,000& *90H A& 97,065
75,495
6,471
15,099

Mo H

SR (A HOI20HA) 423,406 556,002 N 132,596
138,691

40,415
244,300

MW

101 1Al 377,492 500,000 A 122,508
115,484
36,603
225,405

MW

04 JIZtHZ22 s+ 377,492 500,000 A 122,508
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96,500
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Mo A

63,000,000& *1CH
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50,000,000 = 1CH
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OXCIAEH L CHUHIEH ARESRU(SAS
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OXiclatEeclZ CHLHHME st H3AESH
500,000& = 12& 6,000
02 =224l 8,750 7,500 1,250
OXlelatsa 2 oHLiME &2 3 (20KW)
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OXlclarEd 2 oHLiMIE HIE A Q3 (26KW
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401 A& HIZ 201 I 295,447 249,000 46,447
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10,000,000& *1JH £ 10,000
405 KtabH S| 1,200 1,200 0
01 HAtH ESFH S 1,200 1,200 0
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SN MESXD
HE: MAUAT I
CHelr At AAT DB Y (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 10,000 10,000 0
OAALE S M2 =& &AM
5,000,000& »23| 10,000
202 O4dl 13,000 13,000 0
01 = LH 4 Hi 3,000 3,000 0
O=HAAZ HAAKX AS 100,000 *3H «103] 3,000
03 =L S 10,000 10,000 0
OZaurm MEX A8
2,500,000 x2H %23 10,000
207 RO ] 100,000 0 100,000
01 2739 100,000 0 100,000
OTALAS oA AT J=HE E2 & EHE
a4 XA 84 100,000, 000& * 14! 100,000
A A A SHEHR 2,954,000 1,400,000 1,554,000
= 1,477,000
< 443,100
e 1,033,900
401 Al HIZ 201 8] 2,954,000 1,400,000 1,554,000
= 1,477,000
< 443,100
e 1,033,900
01 A& HI 2,943,365 1,394,960 1,548,405
O=HIEX ALY 2,943,365
— AbEA MAIZE A 2,943,365,000& x 14! 2,943,365
= 1,477,000
= 443,100
[ 1,023,265
03 A& =2 THHI 10,635 5,040 5,595
O=HIEX ALY 10,635
— A HAIZ =4
2,954,000,000& *0.36% 10,635
ANAHSMEA AHES (HEMN 83 AEAE & 325,000 436,000 A 111,000
23 XN AE)
Xl 228,000
< 29,000
s 68,000
202 o4dl 1,500 1,500 0
01 = LH o4 1l 1,500 1,500 0
OXSZ A A 1,500
—SR¥ WAL 100,000& 15 1,500
403 X SHHSA=0l& 323,500 434,500 A 111,000
X 228,000
< 29,000
s 66,500
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2N

N2 Aol AT DY X
CHR: APM A AT JJBEXRA (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 BI2SOHUSA=2EUEAIS Y 323,500 434,500 A 111,000
OXNEZHANZ 323,500
—AZAZS OIFHIOEH EAADBIHR)
323,500,000 14! 323,500
N 228,000
= 29,000
= 66,500
A& (A OkLI) 420,000 360,000 60,000
Xl 294,000
= 37,800
= 88,200
401 Al HI L £ 0HHI 420,000 358,500 61,500
N 294,000
& 37,800
= 88,200
01 Al& H| 416,976 355,908 61,068
OXES AHALY 416,976
—dEX AMOIL DAIR23 HE ZZ2RE (2XF
=2) 416,976,000 = 1Al 416,976
Xl 294,000
= 37,800
= 85,176
03 AlE 201 Y| 3,024 2,592 432
OXNEZHANZ 3,024
—dMUEXM AQOIL 9AI2S ME Z2NE
420,000,000 %0.72% 3,024
AQEAE AP SIEHR] A (REA) 1,400,000 0 1,400,000
401 AlEHIZL 2 0HY| 1,400,000 0 1,400,000
01 Al& H| 1,394,978 0 1,394,978
OLs MABIER EA
1,394,978,000 =14l 1,394,978
03 AlIE 20| 5,022 0 5,022
Obt2 A AAZIEHR] A
1,394,978, 000 *0 . 36% 5,022
Arab=H XK (EHI) 400,000 0 400,000
= 200,000
= 200,000
401 AlEHIZL £ 0HY| 400,000 0 400,000
= 200,000
= 200,000
01 Al&H| 400,000 0 400,000
OZHEXZANY 400,000
— 20U GAIE2S HMEg& X4
400,000,000& * 1Al 400,000
o= 200,000
= 200,000
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AhE = Xt
HE2AZH (M= D)
Jl2&dl
= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
AL (L& =X 84,036 84,036
Jl=34l 84,036 84,036
Jl2zl 84,036 84,036
201 Let24d] 43,926 43,926
01 At 2teltl 43,926 43,926
ORANEN 1,831,000& »21H 38,451
OSIAHSAMI| gXts 150,000 = 1CH 12 1,800
O= &l 7,000 x21H 25 3,675
202 O4dl 35,910 35,910
01 =2 LHAYI 35,910 35,910
O2L 0 bi 80,0003 x21H 128 20,160
O&2 ¢ di 75,0003 x21H x10 15,750
203 YR =&Y 4,200 4,200
04 BENSIHRF=LHI 4,200 4,200
ORA2EIRFAHI 350,000& = 12& 4,200
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